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Shall we say that >''9 maintains, etc. from the words of 11''

OVERVIEW

"OX 27 said in the name of 73M° " that the dispute between °01° "1 »"7 whether we
can burn AXMYT QY 777V 72170 on 109 27V is only in the sixth hour (when y2m is
MoK only 7112771), however all agree that in the seventh hour (when y»nm is 70K
XN7IR77) the 700 7m0 can be burnt together with the AX»Y 71N, XIT "M
inferred from this and asked,' does this mean that 131 'Y maintains that when »'"9
said 1717 o2 (his ruling) he was referring to the 077127 of 7"onA. There is a
dispute between *"w7 and mM»dOIN how 1" inferred from °" (that %ax wwa nponn
QoMW 7"7 "7 Yw2), that 077°727) means 7"'017 72T

- YWA NPIYNN MNP DY $RUNRT Z0909P0 U
>'""w9 explained that it seemed to 1"7 (that »"9 derived his ruling from 11"9) since

1 ' said the dispute between 01 " 2"7 is only in the sixth hour, therefore "9
could not have derived his ruling from yw " -

= TYND DIINT 1999 9133 /1) 712 199N WYA NIYIN NN ywins »391 N1
For if n"1 derived his ruling from @y '3, why did 727 ' mention that only
from the sixth hour n"9 maintains you can burn the 7770 72170, when it can also
be burnt earlier even in the fourth or fifth hour, since the 7170 is going to
waste.

mooIn disagrees with >"w7s:
=71 71 50I9NIY IND WY DPIT RN NNIADITT PNYY 135299 INII PN)

And the >''1 disagrees, for perhaps this which 7171 "7 mentioned ww, was not to

exclude '/ '7; in fact »"1 can maintain that even 'm '72 one may burn the 77V 717N since it
is going T2°RY like ¥ ° ' maintains -

= 19991V D51 9927 /32 DAN 919919 ’¥aT DIVN KON
Rather 71m° ' mentions w¥ because he wishes to conclude, however 'ra

" See “Thinking it over’.
% X1 ",
YW "1 maintains (see previous 7wy, the Xn™1a of n3) that one may be 71w AN Xnwn if it is going TR
Therefore since this ' '7 7Yw2a 71170 is not going to be eaten any more, there is no reason why it should not be burnt,
according to n"1 if he derives his ruling from yu13° . Since however 1171 "1 mentions only that it can be burnt w3
(when there is an 712771 710°X) but not before, this indicates that n"9 derived his ruling from i1"or7 (who is discussing
a 13277 AxAW 791) and »"1 maintains we can derive 131277 0°R from 71277 ARMI.
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everyone4 (even °01 'M) maintains one can burn the ax»v7 Qv 700 N —

mMooIn has an additional question on Mypn:
- na9n PYIIN JNY N8N NDIINA Y9WT 1197 TIAIND DIIN KD /1) 77247 Ty

And additionally in 'm 't 7vw it is not going Ta°8Y, for since it is (still)
permitted to eat y»r, he will find many eaters for this 77170 72370 —

mooin offers his interpretation how we infer from 331 " that 2"9 derived his ruing from 73"on":
- 71’9‘11\’) D51 9927 732 YaAN NINRPTN PIYTT PNHN 13929Y NI

And it is the view of the °'"9 that "7 inferred (that »"7 derives his ruling from

7"'on7) since 131 ' stated, however 't 7vwa all agree that we may burn the 7170
ARPLT QY AN -
- 5D)% 5299 P9IV 7127 1939 12 ON 9INP YWIND %39 592713 IN)

But if »"7 meant that he derived his ruling from the words of ¥271° '3, so how do

we know that %01° '3 agrees that '12 we burn the ax»va oy 7770 79170; there is in fact a

reason we should assume that according to *01 ") we do not burn the '12 AX»v7 oy 7MY, for -
- TI2INY SITNT 23 Y GN NY NYPA YA POIN 1097 KIINT INY ONNT 7Y K220 119

Since °01 "1 maintains that we cannot derive the ruling of »n" from ywi ", for
there (the case of yw1° ") it is different, we can be Xavn the 72170 (which is
going T2°RY) since there is a loss of P> (if we will not be Xnvn the 7m7n),

however generally we cannot be 772170 X»un even if it is going 71398Y (like the case
of ww2a 77w 7”7N) -
- 'NPON DY 199Y XY /12 999N 19 ON

If indeed this is the reasoning of °01° "1 that T12°X% 77171 (alone) is no reason to be
7170 ¥nvn, then even 'ta the 77170 72170 may not be burnt with 8»w 770,

* Even *0v ' who maintains that w3 (even though it is already 732772 10K, nevertheless) it cannot be burnt, agrees
that ¥aw2a when there is an Xn»7IXT MO°X it can be burnt.
> "y stated (see footnote # 3) that if n"7 derived his ruling from @i 1 that it should be permitted to burn the
77IY 70N even ' '7 IYWwA (not only ww ayw3a), since (at the point already) it is going T12°K>.
% That is why 1" said that only ww Aywa (when it is [732772] MOK) is it permitted to burn the X»LA oY TV TN
! According to *"wA the inference is from wwa np1omn; according to MooIn the P17 is from Pow 7"7 12 Hax. This
may be a better P17 from *"9, because by saying "2 np1omna there is no w1, the w70 of 131 ' is that Pow "7 1.
8 In the case of YW ' the 7170 791N is flowing into a nx of PXMY 12 which will be &nvn the 7N (the 771
72°K%?) and will cause the P21 (which will be become mixed with 7Xnw 7210) to be (practically) worthless ( XX
791 7097).
? However if n"1 derives his ruling from 3"on" (since 77"om7 is discussing a 11277 Xm0 T [for RXnNL? PRwn DRV
13277 2nK]) and we compare T10°R to XML and the reason 01 " disagrees and maintains that we cannot derive
s'™" ruling from 77"on7 is because it is a XNMRT AXMW T2 [since RN®IIRT 2R RAWY PRwn NRAY]), but not because
we cannot derive M0°X from 8™V, it is therefore understood that 12 y»nr which is Xn»MIR72 70K can be derived
from 13"onn [See footnote # 13] which discusses a XN*»7IRT ARAIW.
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moon asks that (perhaps) we can still say that »n"1 derives his ruling from ywi» " and
nevertheless °01° "1 agrees that 727w 72:
= YD1% Y399 1929N 19991V /127 NN 9NN ON)

And if you will say; this that we burn the '3 78»07 oV 77170 even according to
99Y° ', that is -

- NNOD OY 909 195 ST RIYPY 529 59291 P97 DIUN
Because 07 "1 derives it from the words of »'"2 who permits to burn 902 with

N2W and similarly 01’ "1 agrees that we can burn Xn>7X7 M10°X with Xn>7IR7 Axmw. The question
remains how did &1 " infer from 317 " that »n"9 derivation is from 7"on0 —

N1B0IN answers:
- ANMIVN NN G595 PN Y397 1Y KTY G995 YYINS 539917 113 1Y Y

And one can say; since 2" derives his ruling from Y3 '3 (that we may be Xnun
7770 7170 which is T12°K? T7717), but we do not find that »'' derives =92°X from

NP, therefore -
- npon MOON T1YY 135 P N300

We cannot derive 779°R from X2t based on logic alone -
= NNVN NOIN IINM 239 G992 NINN 239 Y9299 13990 DNHH71) N DaN

However if the 2r1°927%2 of »"7 means 17''9 59275, so »''1 derives T19°R from R»w -
= 990 XYM NN 9INT 20 22

And even 501 'Y who says 777177 3% IR and we cannot derive s'n"1 ruling from 11" that is
only -
= 13294 990N 1193911 139959 XD NHIINT ANMIV 19 19D N920T OIVN

Because °0v ' maintains that 1" is discussing a Rn»MIRT A8™W 79, and we

cannot derive from a Xn>7IX7 XAV to an 3297 MR (but not that *Ov 'Y maintains that
we cannot derive X1vn 10°X), so therefore s"01 ' objection -

215391 7199955 NNIINT NOON /12 YN WA 139977
Is only by ww (where it is M0X only 712771), however by 't where there is an %R
Xn»IR7T we can derive (from ") that it is permitted to burn the x»v7 QY 7ML

'O the derivation of »"A is from Y@ "1 (so we do not see that 1"7 compares MO X to IXMWV), 1371 "1 would not have
assumed that °01 "1 agrees that '12 7571w based on the ruling of ¥"7. We cannot compare the ruling of ¥"9 regarding
7RM to the ruling of '12 197 regarding MO X, without a known precedent see footnote # 11.
' Therefore *0v " cannot derive from ¥"9 that we may burn '1a y»n with axnv. The ruling of ¥"7 is only regarding
XM that we may add R to a 7100 (something which became &nv), however we cannot derive that we may be
Xnvn something which is MoX (even Xn»7RT») but it is not X»v at all. We have no precedent to compare 710°R to
INm.
"2 We already have the precedent of "1 who derives 10>k from 7xm10 (by a 13277) and *0v "1 applies it to a XA»IKT.
" According to mooIn previously Xn» 7T "7 X0 [TIE footnote # 5], M9910 may mean that *01 ' derives this rule
(of burning '12 m11N) from ¥"1 (but not from 11'"7).
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SUMMARY

We infer from 311 " (who say 7"7% 19w '12) that s""9 derivation is from 1"
(that we compare MO°X to 7x¥MW). For if it would be from Yw1° " (who permits
being 7m1n &nvn which is T2°X2 7797) there is no reason to assume that "0 "
agrees to 12 19 (since according to 01 " the N7 of YW "M is limited to cases
where there is a P27 7097). A precedent of a Rin is required to compare TOX
RO,

THINKING IT OVER

X1 ' asked whether his inference is correct (xn71).'* According to *"wn that the
inference i1s from the word ww (if it is precise then there is an inference and if not
there i1s no inference), this is understood.”” However according to mdoIN the
inference seems unassailable, why does X7°T "1 use the term &»°1 indicating that he
is unsure of the inference?'®

' See footnote # 1.
15 See &2 7" 2",
1 See (717 bW 279) ATIN M.
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